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(b)

(2)

e ReR’T YR TR (FHRY T3 AT
TES 7
(Ro% TeqCo1 31T Tfered)

With which of the following commodities
the term ‘Yellow Revolution’ is associated?

(Choose the correct answer)

() m
Cotton

(i) o W afb
Oil seeds

(ifi) NI SO T
Dairy product

(iv) SR 9Bl T2

None of the above

| (c) TS 227 9 @b BTN IWEA R
! T 90|
| Mention one land reform measure
’ undertaken in India.
| (d) S CTow ReRd b @fAme aed [
gl orgea |
Point out one negative impact of Green
Revolution in India.
() SRR CrrTRS «b R T MR R e
[?
Why is an agricultural pri i
' . price. polic
needed in developing countries? P
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(3)

v55d BTG %9 T4 SHAEA e e <ol
S TCEY 391

Mention one objective of India’s
Industrial Policy, 1991.

03y B © TF 8 CERA afcy S
o A RETRAR AR 7 & 7

What is the name of the Assam Global
Investors’ Summit scheduled during
3rd-4th February, 20187?

SR TP ARG A A AR 2

What is the time period of 12th Five-Year
Plan of India?

. wd R @ Bif¥or o R fora (4fSeer 150 R
foo90) :

Write short notes on any four of the following
(within 150 words each) :

(a) SRS TR A

Population Policy of India

(b) R A {7 afdrm S RRAE S

8P/649

Pubic = Sector Undertakings and
Disinvestment Policy of India
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(c)

(d)

(e)

3. (a)

(b)

8P/649

(4]

SAeq BT 49T FEATPTR

Achievements of industrial sector In

India

e e e ATl

Prospects of border trade in Assam

TR Wl (T

Regional disparities in India

RO SR 2 (IREPR o
ST e S S @ or)d T (P
AR goe 5 2oW IR ? 7+4=11
Discuss the main features of Indian
economy. How is the economy of the
country affected by the overuse and
misuse of natural resources?

241 /Or

A G 3 244 FRPTR B 12 B
TR 4@ eFeRRT IFER TR Ro
HEG FDT ST 46 72H I ? I
o | T+4=11
What are the major causes for the
growth of population in Assam? Can the
preparation of NRC be helpful in solving

the problem of immigration in Assam?
Give arguments.

( Continued ) ‘

(5)

@ ©AG1 I Ry SeqmEAed AT

ST 411 A PR TR Qe @
R PO R BTG | 8+4=12
Discuss the causes for the low
agricultural productivity in India.
Suggest some measures to remove the
barriers of agricultural development in
the country.

%<1 /Or

SRET I R TIPS 341 1 (%
TPIPTR. R 9 R & oz
iR 8+4=12
Discuss the problems of agricultural
marketing in India. What measures have

been undertaken by the Government to
remove these problems?

SRS WYASF TS FW WF R N
ST SICSAT 3497 | 11

Discuss the role of small-scale and
cottage industries in the economic
development of India.

{1 /Or

STS CRI 492 TR R TIPS ey
ST 1 | (2 SRR TR 3 o]
SHIRCE | : 6+5=11
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(b)
7. (a)
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(6)

Discuss the problems faced by the
service sector in India. Suggest some
measures to solve these problems.

T S RerR PRTPTR
S | T S Rt @ R
Tqﬁwxﬁ R o, 3 01 6+5=11

Discuss the evil consequences of slow
growth of industrialization in Assam.
Explain how the development of small-
scale industries can remove these evil
consequences.

31 /Or

T ST " W O ST A | @R
srmrHR & B g TPTR TER Q2
w1fReR ? 2+49=11

Name four small-scale and cottage
industries of Assam. What major
problems are being faced by these
industries?

A e cfResR T SowiEr
& 7 wCeTET 39 11

What are the basic objectives of
economic planning in India? Discuss.

( Continued )

(7)

%3 /Or
(b) TR R CHEA WA e
CTTRFH TP R S 41 |
2+9=11

What is globalization? Discuss the

impacts of globalization on Indian
economy.

%k ok
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